

2003 - 2004

Page 1 of 9 09/03/04

2 YEA	2 YEAR PRIVATE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
686	CENTRAL FLORIDA COLLEGE -ORLANDO	\$0.00	0	\$0.00		
045	COLLEGE OF BUSINESS AND TECHNLGY	\$0.00	0	\$0.00		
933	EDUTECH CENTERS	\$0.00	0	\$0.00		
049	FL COLLEGE OF NAT HEALTH-MIAMI	\$0.00	0	\$0.00		
594	FL COLLEGE OF NAT HEALTH-ORLANDO	\$0.00	0	\$0.00		
048	FL COLLEGE OF NAT HEALTH-POMP BC	\$0.00	0	\$0.00		
038	FL TECHNICAL COLL- JACKSONVILLE	\$0.00	0	\$0.00		
203	FL TECHNICAL COLLEGE-ORLANDO	\$0.00	0	\$0.00		
911	FLORIDA CAREER COLLEGE- MIAMI	\$0.00	0	\$0.00		
448	FLORIDA NATIONAL COLLEGE	\$0.00	0	\$0.00		
414	FULL SAIL REAL WORLD EDUCATION	\$12,497.00	8	\$1,562.13		
994	HERZING COLLEGE-ORLANDO	\$0.00	0	\$0.00		
596	ISTM DBA CITY COLLEGE	\$0.00	0	\$0.00		
086	ITT TECHNICAL INSTITUTE-MIAMI	\$0.00	0	\$0.00		
714	KEISER CAREER COLLEGE-LAKE WORTH	\$0.00	0	\$0.00		
034	NORTH FLORIDA INSTITUTE	\$0.00	0	\$0.00		
069	SOUTHWEST FLORIDA COLLEGE	\$0.00	0	\$0.00		
953	WEBSTER COLLEGE -TAMPA	\$0.00	0	\$0.00		
<b>Inst Ty</b>	pe Totals:	\$12,497.00	8	\$1,562.13		

2 YEA	2 YEAR PUBLIC COMMUNITY COLLEGE				
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
052	BREVARD COMMUNITY COLLEGE	\$137,307.00	82	\$1,674.48	
062	BROWARD COMMUNITY COLLEGE	\$54,336.00	34	\$1,598.12	
422	CENTRAL FLORIDA COMMUNITY COLLEG	\$87,046.28	45	\$1,934.36	
322	CHIPOLA COLLEGE	\$138,954.00	62	\$2,241.19	
642	DAYTONA BEACH COMMUNITY COLLEGE	\$110,207.00	58	\$1,900.12	
362	EDISON COMMUNITY COLLEGE	\$63,438.00	38	\$1,669.42	
162	FL COM COLLEGE AT JACKSONVILLE	\$59,522.00	34	\$1,750.65	
442	FLORIDA KEYS COMMUNITY COLLEGE	\$3,250.54	2	\$1,625.27	
032	GULF COAST COMMUNITY COLLEGE	\$82,750.22	49	\$1,688.78	
292	HILLSBOROUGH COMMUNITY COLLEGE	\$81,460.00	47	\$1,733.19	
562	INDIAN RIVER COMMUNITY COLLEGE	\$86,728.00	49	\$1,769.96	
122	LAKE CITY COMMUNITY COLLEGE	\$49,772.00	25	\$1,990.88	



2003 - 2004

Page 2 of 9 09/03/04

2 YEA	2 YEAR PUBLIC COMMUNITY COLLEGE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
352	LAKE SUMTER COMMUNITY COLLEGE	\$32,094.32	19	\$1,689.17		
412	MANATEE COMMUNITY COLLEGE	\$94,010.85	52	\$1,807.90		
682	MIAMI-DADE COLLEGE	\$34,302.00	18	\$1,905.67		
402	NORTH FLORIDA COMMUNITY COLLEGE	\$17,606.00	11	\$1,600.55		
462	OKALOOSA-WALTON COMMUNITY COLLEG	\$104,504.00	66	\$1,583.39		
502	PALM BEACH COMMUNITY COLLEGE	\$43,763.00	27	\$1,620.85		
512	PASCO-HERNANDO COMMUNITY COLLEGE	\$34,836.00	21	\$1,658.86		
172	PENSACOLA JUNIOR COLLEGE	\$130,702.70	72	\$1,815.32		
532	POLK COMMUNITY COLLEGE	\$63,780.66	34	\$1,875.90		
012	SANTA FE COMMUNITY COLLEGE	\$291,753.00	163	\$1,789.90		
592	SEMINOLE COMMUNITY COLLEGE	\$51,536.80	32	\$1,610.53		
282	SOUTH FLORIDA COMMUNITY COLLEGE	\$4,517.00	2	\$2,258.50		
542	ST. JOHNS RIVER COMMUNITY COLLEG	\$74,211.05	40	\$1,855.28		
522	ST. PETERSBURG COLLEGE	\$108,241.06	62	\$1,745.82		
372	TALLAHASSEE COMMUNITY COLLEGE	\$88,286.00	53	\$1,665.77		
482	VALENCIA COMMUNITY COLLEGE	\$134,233.76	80	\$1,677.92		
<b>Inst Ty</b>	pe Totals:	\$2,263,149.24	1277	\$1,772.24		

4 YEA	4 YEAR PRIVATE COLLEGE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
895	AI MIAMI INTL UNIV OF ART&DESIGN	\$1,768.00	1	\$1,768.00		
927	AMERICAN INTERCONTINENTAL UNIV	\$0.00	0	\$0.00		
748	ARGOSY UNIVERSITY - SARASOTA	\$0.00	0	\$0.00		
882	ART INSTITUTE OF FT. LAUDERDALE	\$12,970.00	5	\$2,594.00		
851	BARRY UNIVERSITY	\$65,858.00	20	\$3,292.90		
683	BEACON COLLEGE	\$0.00	0	\$0.00		
716	BELHAVEN COLLEGE	\$3,536.00	1	\$3,536.00		
852	BETHUNE-COOKMAN COLLEGE	\$6,188.00	2	\$3,094.00		
027	CARLOS ALBIZU UNIVERSITY	\$0.00	0	\$0.00		
066	CITY COLLEGE - FORT LAUDERDALE	\$0.00	0	\$0.00		
959	CLEARWATER CHRISTIAN COLLEGE	\$100,776.00	30	\$3,359.20		
593	COLUMBIA COLLEGE, ORLANDO	\$884.00	1	\$884.00		
015	DEVRY UNIVERSITY, ORLANDO	\$3,536.00	1	\$3,536.00		
041	EAST WEST COLLEGE OF NATURAL MED	\$3,536.00	1	\$3,536.00		



2003 - 2004

Page 3 of 9 09/03/04

4 YEA	4 YEAR PRIVATE COLLEGE				
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
859	ECKERD COLLEGE	\$215,254.00	62	\$3,471.84	
854	EDWARD WATERS COLLEGE	\$0.00	0	\$0.00	
855	EMBRY-RIDDLE AERONAUTICAL UNIV	\$332,826.00	101	\$3,295.31	
014	EVERGLADES COLLEGE	\$0.00	0	\$0.00	
687	FL COLLEGE OF INTEGRATIVE MED	\$3,094.00	1	\$3,094.00	
843	FL HOSPITAL COLLEGE OF HLTH SCIE	\$40,664.00	12	\$3,388.67	
956	FL METROPOL UNIV -POMPANO BCH	\$0.00	0	\$0.00	
951	FL METROPOLITAN UNIV -NORTH ORL	\$0.00	0	\$0.00	
945	FL METROPOLITAN UNIV -PINELLAS	\$0.00	0	\$0.00	
955	FL METROPOLITAN UNIV -TAMPA	\$0.00	0	\$0.00	
879	FLAGLER COLLEGE	\$417,248.00	127	\$3,285.42	
963	FLORIDA CHRISTIAN COLLEGE	\$31,824.00	9	\$3,536.00	
856	FLORIDA COLLEGE	\$56,576.00	18	\$3,143.11	
857	FLORIDA INSTITUTE OF TECHNOLOGY	\$579,904.00	171	\$3,391.25	
858	FLORIDA MEMORIAL COLLEGE	\$0.00	0	\$0.00	
860	FLORIDA SOUTHERN COLLEGE	\$399,126.00	118	\$3,382.42	
005	GOSHEN COLLEGE, SARASOTA	\$0.00	0	\$0.00	
383	HOBE SOUND BIBLE COLLEGE	\$7,072.00	2	\$3,536.00	
386	INTERNATIONAL COLLEGE	\$3,536.00	1	\$3,536.00	
385	INTL ACAD OF DESIGN & TECH-TAMPA	\$17,980.00	6	\$2,996.67	
384	INTL ACAD OF DESIGN &TECH-ORLAND	\$2,948.00	2	\$1,474.00	
984	ITT TECHNICAL INST-FT. LAUDERDAL	\$0.00	0	\$0.00	
949	ITT TECHNICAL INST-JACKSONVILLE	\$0.00	0	\$0.00	
486	ITT TECHNICAL INSTITUTE-MAITLAND	\$0.00	0	\$0.00	
075	ITT TECHNICAL INSTITUTE-TAMPA	\$0.00	0	\$0.00	
862	JACKSONVILLE UNIVERSITY	\$259,012.00	77	\$3,363.79	
488	JOHNSON & WALES UNIV, N. MIAMI	\$4,716.00	2	\$2,358.00	
950	JONES COLLEGE	\$0.00	0	\$0.00	
883	KEISER COLLEGE - FT. LAUDERDALE	\$0.00	0	\$0.00	
863	LYNN UNIVERSITY	\$7,072.00	2	\$3,536.00	
058	NATIONAL LOUIS UNIVERSITY, TAMPA	\$0.00	0	\$0.00	
024	NORTHWOOD UNIV, WEST PALM BCH	\$0.00	0	\$0.00	
068	NOVA SOUTHEASTERN UNIVERSITY	\$240,890.00	74	\$3,255.27	
868	PALM BEACH ATLANTIC UNIVERSITY	\$399,126.00	121	\$3,298.56	
939	REMINGTON COLLEGE-JACKSONVILLE	\$0.00	0	\$0.00	
l					



2003 - 2004

Page 4 of 9 09/03/04

4 YEAI	R PRIVATE COLLEGE			
Code	Institution	Total Dollars	Students Receiving	•
938	REMINGTON COLLEGE-LARGO CAMPUS	\$0.00	0	\$0.00
937	REMINGTON COLLEGE-TAMPA CAMPUS	\$7,074.00	2	\$3,537.00
584	RINGLING SCHOOL OF ART AND DESIG	\$95,472.00	27	\$3,536.00
869	ROLLINS COLLEGE	\$707,764.00	210	\$3,370.30
865	SCHILLER INTNAL UNIV, DUNEDIN	\$0.00	0	\$0.00
964	SOUTH UNIVERSITY - WEST PALM BCH	\$0.00	0	\$0.00
917	SOUTHEASTERN COLLEGE	\$175,032.00	53	\$3,302.49
914	SPRINGFIELD COLLEGE, TAMPA	\$0.00	0	\$0.00
159	SPURGEON BAPTIST BIBLE COLLEGE	\$0.00	0	\$0.00
880	ST. JOHN VIANNEY COLLEGE SEMINAR	\$3,536.00	1	\$3,536.00
870	ST. LEO UNIVERSITY	\$87,958.00	28	\$3,141.36
853	ST. THOMAS UNIVERSITY	\$3,536.00	1	\$3,536.00
872	STETSON UNIVERSITY	\$1,102,790.00	321	\$3,435.48
019	TALMUDIC COLLEGE OF FLORIDA	\$0.00	0	\$0.00
305	THE BAPTIST COLLEGE OF FLORIDA	\$43,758.00	15	\$2,917.20
153	TRINITY BAPTIST COLLEGE	\$18,564.00	6	\$3,094.00
218	TRINITY COLLEGE OF FLORIDA	\$21,216.00	6	\$3,536.00
936	TRINITY INTERNATIONAL UNIVERSITY	\$0.00	0	\$0.00
216	TROY STATE UNIV, FT WALTON BCH	\$7,072.00	2	\$3,536.00
912	UNION INSTITUTE & UNIVERSITY	\$0.00	0	\$0.00
874	UNIVERSITY OF MIAMI	\$4,805,123.44	1399	\$3,434.68
191	UNIVERSITY OF PHOENIX-MAITLAND	\$0.00	0	\$0.00
875	UNIVERSITY OF TAMPA	\$255,918.00	77	\$3,323.61
929	WARNER SOUTHERN	\$21,216.00	7	\$3,030.86
878	WEBBER INTERNATIONAL UNIVERSITY	\$4,420.00	2	\$2,210.00
673	WEBSTER COLLEGE-HOLIDAY	\$0.00	0	\$0.00
147	WEBSTER COLLEGE-OCALA	\$0.00	0	\$0.00
001	YESHIVA GEDOLAH RABBINICAL COLL	\$0.00	0	\$0.00
Inst Ty	oe Totals:	\$10,578,369.44	3125	\$3,385.08

4 YEA	R PUBLIC STATE UNIVERSITY			
Code	Institution	Total Dollars	Students Receiving	Average Award Amount
376	FLORIDA A & M UNIVERSITY	\$295,994.15	96	\$3,083.27
501	FLORIDA ATLANTIC UNIVERSITY	\$1,204,591.00	401	\$3,003.97



2003 - 2004

09/03/04

Page 5 of 9

4 YEAI	4 YEAR PUBLIC STATE UNIVERSITY					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
361	FLORIDA GULF COAST UNIVERSITY	\$458,307.82	154	\$2,976.02		
131	FLORIDA INTERNATIONAL UNIVERSITY	\$1,464,608.00	462	\$3,170.15		
371	FLORIDA STATE UNIVERSITY	\$8,972,210.00	3023	\$2,967.98		
867	NEW COLLEGE OF FLORIDA	\$975,739.16	274	\$3,561.09		
481	UNIVERSITY OF CENTRAL FLORIDA	\$9,429,296.00	3045	\$3,096.65		
011	UNIVERSITY OF FLORIDA	\$34,120,692.04	11409	\$2,990.68		
161	UNIVERSITY OF NORTH FLORIDA	\$1,830,655.00	612	\$2,991.27		
291	UNIVERSITY OF SOUTH FLORIDA	\$5,245,142.88	1693	\$3,098.14		
171	UNIVERSITY OF WEST FLORIDA	\$1,284,503.83	442	\$2,906.12		
Inst Ty	pe Totals:	\$65,281,739.88	21611	\$3,020.76		

PRIVA	PRIVATE VOCATIONAL/TECHNICAL				
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
196	ACAD FOR PRAC NURSING & HLTH OCC	\$0.00	0	\$0.00	
156	ACAD OF HEALING ARTS, MASSAGE	\$0.00	0	\$0.00	
043	AMERICAN INST OF MASSAGE THERAPY	\$0.00	0	\$0.00	
010	AMERICARE SCHOOL OF NURSING	\$0.00	0	\$0.00	
913	ASM BEAUTY WORLD ACADEMY	\$0.00	0	\$0.00	
595	AUDIO RECORDING TECHNOLOGY INST	\$0.00	0	\$0.00	
095	BEAUTY SCHOOLS OF AMERICA	\$0.00	0	\$0.00	
003	CAPE CORAL BEAUTY SCHOOL	\$0.00	0	\$0.00	
009	CAPPS MEDICAL INSTITUTE	\$0.00	0	\$0.00	
023	CENTRAL FLORIDA INSTITUTE	\$0.00	0	\$0.00	
800	CLINTON TECHNICAL INSTITUTE	\$0.00	0	\$0.00	
694	COMPU-MED VOC CAREER CORP.	\$0.00	0	\$0.00	
107	CONCORDE CAREER INST-JACKSONVILL	\$0.00	0	\$0.00	
078	CONCORDE CAREER INST-LAUDER LAKE	\$0.00	0	\$0.00	
750	CONCORDE CAREER INSTITUTE-TAMPA	\$0.00	0	\$0.00	
083	COOPER CAREER INSTITUTE	\$0.00	0	\$0.00	
057	CORAL RIDGE TRAINING SCHOOL	\$0.00	0	\$0.00	
688	DYNASTY ACADEMY	\$0.00	0	\$0.00	
700	EL JANEZ INST OF CORAL SPRINGS	\$0.00	0	\$0.00	
030	EMERALD COAST MASSAGE SCHOOL	\$0.00	0	\$0.00	
017	FASHION FOCUS HAIR ACADEMY	\$0.00	0	\$0.00	



2003 - 2004

Page 6 of 9 09/03/04

PRIVA	PRIVATE VOCATIONAL/TECHNICAL				
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
004	FL INSTITUTE OF ANIMAL ARTS	\$0.00	0	\$0.00	
213	FORT PIERCE BEAUTY ACADEMY	\$0.00	0	\$0.00	
007	GALIANO CAREER ACADEMY	\$0.00	0	\$0.00	
158	HI-TECH SCHOOL OF MIAMI	\$0.00	0	\$0.00	
020	HIGH-TECH INSTITUTE	\$0.00	0	\$0.00	
040	HOPE CAREER INSTITUTE	\$0.00	0	\$0.00	
516	INTERNATIONAL SCHOOL OF BEAUTY	\$0.00	0	\$0.00	
098	INTERNATIONAL VOC TRAINING CTR	\$0.00	0	\$0.00	
042	KEY COLLEGE	\$0.00	0	\$0.00	
029	LORAINE'S ACADEMY	\$0.00	0	\$0.00	
499	MANHATTAN HAIRSTYLING ACADEMY	\$0.00	0	\$0.00	
696	MARGATE SCHOOL OF BEAUTY	\$0.00	0	\$0.00	
088	MED VANCE PORT ST LUCIE NURSING	\$0.00	0	\$0.00	
039	MIAMI INST OF MEDICAL TECHNOLOGY	\$0.00	0	\$0.00	
217	NATIONAL AVIATION ACADEMY	\$0.00	0	\$0.00	
703	NORTH FLORIDA COSMETOLOGY INST	\$0.00	0	\$0.00	
693	NOUVELLE INSTITUTE	\$0.00	0	\$0.00	
671	NTNL SCH OF TECHNOLOGY- N. MIAMI	\$0.00	0	\$0.00	
847	NTNL SCH OF TECHNOLOGY-HIALEAH	\$0.00	0	\$0.00	
106	NTNL SCHOOL OF TECHNOLOGY-MIAMI	\$0.00	0	\$0.00	
097	ORLANDO INST OF ELECTROLYSIS	\$0.00	0	\$0.00	
212	PORT ST. LUCIE BEAUTY ACADEMY	\$0.00	0	\$0.00	
717	PROFESSIONAL TRAINING CENTERS	\$0.00	0	\$0.00	
006	SE SCH OF NEUROMUSCULAR & MASSAG	\$0.00	0	\$0.00	
211	SOUTHEAST INST OF ORIENTAL MED	\$0.00	0	\$0.00	
681	SPACE COAST HEALTH INSTITUTE	\$0.00	0	\$0.00	
093	SUMMIT INSTITUTE	\$0.00	0	\$0.00	
915	SUNCOAST SCHOOL	\$0.00	0	\$0.00	
025	SUNSTATE ACADEMY OF HAIR DESIGN-	\$532.00	1	\$532.00	
089	TOTAL NAILS AND HAIR ACADEMY	\$0.00	0	\$0.00	
091	ULTRASOUND DIAGNOSTIC SCH-JACKSO	\$0.00	0	\$0.00	
749	ULTRASOUND DIAGNOSTIC SCH-LAUDER	\$0.00	0	\$0.00	
699	ULTRASOUND DIAGNOSTIC SCH-TAMPA	\$0.00	0	\$0.00	
092	WOODY'S HAIRSTYLING INSTITUTE	\$0.00	0	\$0.00	
Inst Typ	oe Totals:	\$532.00	1	\$532.00	



**2003 - 2004** 09/03/04

Page 7 of 9

PUBLI	PUBLIC VOCATIONAL/TECHNICAL				
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
013	ATLANTIC TECHNICAL CENTER	\$0.00	0	\$0.00	
033	BRADFORD-UNION AREA VO-TECH	\$0.00	0	\$0.00	
082	CHARLOTTE TECHNICAL CENTER	\$0.00	0	\$0.00	
561	D. G. ERWIN TECHNICAL CENTER	\$0.00	0	\$0.00	
145	DESOTO COUNTY ADULT EDUC. CENTER	\$0.00	0	\$0.00	
368	FIRST COAST TECHNICAL INSTITUTE	\$0.00	0	\$0.00	
506	GEORGE STONE AREA VOC TECH CTR	\$1,906.81	1	\$1,906.81	
163	GEORGE T. BAKER AVIATION SCHOOL	\$0.00	0	\$0.00	
820	HENRY W. BREWSTER TECH. CENTER	\$0.00	0	\$0.00	
564	LAKE TECHNICAL CENTER	\$1,274.00	1	\$1,274.00	
565	LEE COUNTY HIGH TECH CTR-CENTRAL	\$0.00	0	\$0.00	
566	LEE COUNTY HIGH TECH CTR-NORTH	\$0.00	0	\$0.00	
373	LINDSAY HOPKINS TECH ED CENTER	\$0.00	0	\$0.00	
447	LIVELY TECHNICAL CENTER	\$0.00	0	\$0.00	
876	LORENZO WALKER INST OF TECH	\$0.00	0	\$0.00	
444	MANATEE TECHNICAL INSTITUTE	\$0.00	0	\$0.00	
489	MARCHMAN EDUCATIONAL CENTER	\$0.00	0	\$0.00	
424	MARION COUNTY SCH OF RADIOLOGIC	\$0.00	0	\$0.00	
219	MARION CTY COM TECH ADULT CENTER	\$0.00	0	\$0.00	
529	MIAMI LAKES EDUCATIONAL CENTER	\$0.00	0	\$0.00	
035	OKALOOSA APPLIED TECHNOLOGY CTR	\$0.00	0	\$0.00	
491	ORLANDO TECH	\$0.00	0	\$0.00	
445	OTEC-MID-FLORIDA TECH	\$0.00	0	\$0.00	
053	PINELLAS TECH EDUCATION CTR-CLEA	\$0.00	0	\$0.00	
709	PINELLAS TECH EDUCATION CTR-ST.P	\$0.00	0	\$0.00	
446	RADFORD M. LOCKLIN TECH CENTER	\$0.00	0	\$0.00	
353	RIDGE TECHNICAL CENTER	\$0.00	0	\$0.00	
533	ROBERT MORGAN EDUCATIONAL CENTER	\$0.00	0	\$0.00	
471	SARASOTA COUNTY TECHNICAL INSTIT	\$0.00	0	\$0.00	
602	SHERIDAN TECHNICAL CENTER	\$0.00	0	\$0.00	
611	SUWANNEE-HAMILTON AREA VOC/TECH	\$0.00	0	\$0.00	
563	TAMPA BAY VOCATIONAL TECH CENTER	\$0.00	0	\$0.00	
612	TAYLOR TECHNICAL INSTITUTE	\$0.00	0	\$0.00	
509	TECHNICAL EDUCATION CTR OSCEOLA	\$0.00	0	\$0.00	
031	THOMAS P. HANEY TECHNICAL CENTER	\$0.00	0	\$0.00	



2003 - 2004

Page 8 of 9 09/03/04

PUBLIC VOCATIONAL/TECHNICAL					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
351	TRAVISS TECHNICAL CENTER	\$2,679.50	1	\$2,679.50	
301	WALTON COUNTY VOC TECH CENTER	\$0.00	0	\$0.00	
965	WASHINGTON-HOLMES TECH CENTER	\$1,234.20	1	\$1,234.20	
836	WESTSIDE TECH	\$0.00	0	\$0.00	
081	WILLIAM T. MCFATTER TECH CENTER	\$0.00	0	\$0.00	
148	WINTER PARK TECH	\$0.00	0	\$0.00	
960	WITHLACOOCHEE TECHNICAL INST	\$0.00	0	\$0.00	
Inst Typ	pe Totals:	\$7,094.51	4	\$1,773.63	
Progra	m / Report Totals:	\$78,143,382.07	26026	\$3,002.51	



2003 - 2004

Page 9 of 9 09/03/04

REPORT SUMMARY DATA					
		Total Dollars	Students Applying	Students Eligible	Students Average Award Receiving Amount
Program / Report Totals:		\$78,143,382.07			26026 * \$3,002.51
*May include duplicates funded at more than one Institution					
Totals by Application:		\$78,143,382.07	34099	31786	25796 \$3,029.28
Initial Applications:		\$24,306,928.05	9069	9069	7705 \$3,154.70
Renewals:		\$53,836,454.02	25030	22717	18091 \$2,975.87
Totals by Race:		\$78,143,382.07	34099	31786	25796 \$3,029.28
Asian/Pacific Islander:		\$4,954,111.55	2064	1920	1577 \$3,141.48
Black:		\$2,157,772.46	951	877	691 \$3,122.68
Hispanic:		\$6,801,828.70	2888	2683	2169 \$3,135.93
Native American/Alaska Native:		\$173,780.10	81	71	57 \$3,048.77
White:		\$59,453,595.78	25722	24108	19766 \$3,007.87
Other:		\$4,602,293.48	2393	2127	1536 \$2,996.28
Totals by Sex:		\$78,143,382.07	34099	31786	25796 \$3,029.28
Female:		\$42,931,854.80	18642	17542	14104 \$3,043.95
Male:		\$34,453,215.03	15000	13855	11429 \$3,014.54
Unknown:		\$758,312.24	457	389	263 \$2,883.32
Program Appropriation:	\$0.00				
Data Locked on:	09-03-2004				